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QUESTION 1

Which OSPFv3 LSA advertises the location of an ASBR? 

A. Intra-Area Prefix LSA 

B. Inter-Area Prefix LSA 

C. Inter-Area Router LSA 

D. AS External LSA 

Correct Answer: C 

 

QUESTION 2

Click on the exhibit. 

A static route has been configured on router R1 to reach the PC at 139.120.121.2. What might be causing the ping to
fail? 

A. Router R2 needs a static route to the PC. 

B. Router R2 needs a default to router R1. 
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C. Router R1 needs a default route to router R2. 

D. The static route should use a next-hop of 172.31.1.2 

Correct Answer: D 

 

QUESTION 3

In which of the following types of areas does an OSPF router not set the E bit in its Type 1 LSA? 

A. Not so stubby area 

B. Stub area 

C. Backbone area 

D. Normal area 

Correct Answer: B 

 

QUESTION 4

Which function or component of the Alcatel-Lucent 7750 SR is in charge of supporting dynamic routing protocols and
constructing the routing table? 

A. IOM 

B. CPM 

C. FIB 

D. SPF 

Correct Answer: B 

 

QUESTION 5

Click on the exhibit. 

4A0-101 PDF Dumps | 4A0-101 Practice Test | 4A0-101 Exam Questions                                3 / 4

https://www.pass2lead.com/4a0-101.html
https://www.pass2lead.com/4a0-101.html
https://www.pass2lead.com/4a0-101.html


https://www.pass2lead.com/4a0-101.html
2024 Latest pass2lead 4A0-101 PDF and VCE dumps Download

Given the output shown, which router is the ASBR in this network? 

A. 10.10.10.2 

B. 10.10.10.3 

C. 10.10.10.4 

D. 10.10.10.6 

E. There is no ASBR configured in the network. 

Correct Answer: C 
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